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d Solving Sequence
' 51026 2> 11 23,7 22 > 12 d >0 - 12 > 8 = €3,C7,C12
A knot dlagranﬂ (ST €1 €4 C9 Ci11 C8

Ideals for irreducible component#ﬂ)f Xpar

= (—u'® 4+ + 5u® — 3u” — 9ul 4+ Tut +4ud — 3P Fb+u+1,
ul® —u® —5u8 + 30"+ 9u® — Tut —5ud +3u +a+u—1,
utt — 20! — 4u® + 8u® + 6u” — 8ul — 8uS + 9ud — 2u® + 1)
=+ ,7u3+a+2u71, ub +u® —3ut — 2u® 4 20 —u —1)

* 2 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
I =(—u%+u+---4+b+1, u'®—u’+.--+a—1, vt —2u0+... —2u%+1)

(i) Arc colorings

U
34w

—u
—ul0 4% +5u8 —3u" — 9+ Tut +5ud — 3w —u+1
w® —u? —5ud +3u" +9ub — Tut —4ud + 3 —u—1

ud —2u
a2 = \ 10 — 9 — 508 +3u" +9ul — Tut —4uP + 3w —u—1
4010 — 3u® — 20u® + 8u” + 32u8 + 5u® — 16u* — 18u® + 3u? —3u —2
—2u0 4+ 4 + 12u® — 2u7 — 2408 — 5ud + 16wt + 10w — w2 +u+1
wl® — 4 — 408 + 30" + 4ub — 4P +u —u
w® — 4% — 448 + 30" +5ub + uwb — 3ut — TP +3u? -1

ay =

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4u9 — 50 — 1508 + 1707 + 14u8 — 9u® — 4u* — 3uP + 13u? — 18u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ utt +27u! + o+ 133u+ 1
Co,Cy w — 7w+ —13u+1
c3, C7 =t — 64w+ 64
€5, €6, Co ult 4 200 — 44® — 8u® + 6u” + 8u® — 8u® + 9u® + 2u? — 1
€10
cg,C11, C12 wt +12u° + 3807 + 10u® — 11u® — 2u + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 ytt — 159y 4+ ... £ 14833y — 1
c2,C4 ytt =27yt 4. 4133y — 1
11 10
cs3, Cr y o+ 51y + .-+ 49152y — 4096
Cs5,C6, C9 y11,12y10+...+4y71
C10

€8, C11, C12 'l 24y 4y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.556675 4 0.8080291
a = —0.55576 — 1.520771
b= 2.58699 + 0.128341

16.4992 — 2.67781

2.70707 4 2.347781

u = —0.556675 — 0.8080291
a = —0.55576 + 1.520771
b= 2.58699 — 0.128341

16.4992 + 2.67781

2.70707 — 2.347781

u= 1.26079
a= 116164
b= —1.67909

1.10399

6.07670

u = —1.44218 + 0.139791
a= 0.14841 +1.467911
b= —0.179069 — 0.8779651

4.02973 — 3.046931

7.61574 4 3.006511

u = —1.44218 — 0.139791
a= 0.14841 —1.467911
b= —0.179069 + 0.8779651

4.02973 + 3.046931

7.61574 — 3.006511

u= 0.263767 + 0.4146401
a= 0.051496 — 1.2719501
b= —0.696724 + 0.4579261

—1.53989 + 1.037841

0.63702 — 4.266481

u= 0.263767 — 0.4146401
a= 0.051496 + 1.2719501
b= —0.696724 — 0.4579261

—1.53989 — 1.037841

0.63702 4 4.266481

u= 1.52082

a= 0.186924 7.24960 14.5180

b= 0.288918
u = —0.426077
a= 0.683970 0.618683 16.2830

b= 10.0908333

u= 155733+ 0.286771

a = —2.16041 + 1.828011 —16.0730 + 6.72201 5.60131 — 2.602371

b= 2.43848 —0.338671




Solutions to I V—=1(vol +/—1CS) Cusp shape

u= 1.55733 —0.286771
a = —2.16041 — 1.828017 | —16.0730 — 6.72201 5.60131 4 2.602371
b= 2.43848 +0.338671




IL Iy =(b+1, v +a+2u—1, u®+u’ —3u* —2u® +2u? —u — 1)

(i) Arc colorings

ayp =

aq =

(
(
(
( 2
o= (050)
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u’ + u* — 6u3 — u? — 2u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u—1)°
cs3,Cy u®
€4 (u+1)°
cs5,Ce wWu® —3ut—20d + 20 —u—1
Cs ub —ud 4 3ut — 20 20 —u—1
Cg, C10 wW—w? =3t 20+ 2 +u—1
C11,C12 W +3ut+ 20 20 +u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)6
C3,C7 y6
C5,C6, C9 y6 _ 7y5 + 17y4 _ 16y3 + 6y2 —5y+1
C10
€8, C11,C12 Y% + 5y° + 9y + 4y — 6y% — 5y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

u = 0.493180 4 0.5752881
a = —0.356069 — 0.921195] | —4.60518 4+ 1.972411 2.71215 — 3.883601
b = —1.00000

u = 0.493180 — 0.5752881
a = —0.356069 + 0.9211957 | —4.60518 — 1.972411 2.71215 + 3.883601

b = —1.00000

u = —0.483672

a= 1.85419 —0.906083 3.38760
b = —1.00000

u = —1.52087 + 0.163101
a= 0.645284 4 0.8012051 2.05064 — 4.592131 6.49628 + 3.924961
b = —1.00000

u = —1.52087 — 0.163101
a= 0.645284 — 0.8012051 2.05064 + 4.592131 6.49628 — 3.924961

b = —1.00000

u= 1.53904

a= 156737 6.01515 6.19550
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
“ ((U—l)ﬁ)(uu +27u10+...+133u+1)
C2 ((u—l)ﬁ)(ull _7U10+"'—13u—|—1)
C3,Ct Uﬁ(ull—u10+...764u+64)
Cq ((qul)G)(uu 77U10+"'*13u+1)
C5,Ce (u® +u® — 3u — 2u® + 2u* —u — 1)
(ut 4 20" — 40 — 8u® + 6u” + 8u® — 8u® + 9u® + 2u” — 1)
s (u — u® + 3ut — 20% + 20% —u — 1)
S(u't +120° + 38" +10u” — 11w’ — 2u + 1)
€9, C10 (u® —u® — 3u + 2u® + 2u* +u — 1)
(4 201 — 40 — 8ud + 6u” + 8uS — 8uS + 9ud + 2u? — 1)
C11,C12 (“6+U5+3U4+2u3+2u2+u_ 1)

(ut 1200 + 3807 + 10u° — 116 — 2u + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ ((y — D) (y'' — 15990 + - - + 14833y — 1)
C2, C4 (=D (" —27y" + - +133y — 1)
c3, 7 Oyt + 51y10 4 - 4 49152y — 4096)
Cs, Cg, Co <y6 _7y5 4+ _5y+1)(y11 _ 12y10+ +4y_ 1)
C10
€8, C11,C12 (y6 + 5y5 +.—by+ 1)(y11 + 24y10 + 4y —1)
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